IYIT—)LTITIS5TL

AURA: A BIFARE aAURA: A BIFFARE

e our IERES: FhE B our IR Fo g

H%%%j:j_%; ;El;o/ zﬁé:so SZ7:30 BRI ;;};JJ%%_F ?mrékﬁ 26 A Hiﬁgﬁﬁé %El;()/ z&:so L=7:30 BRI ;;};JJZJE!_F ?ﬂé‘ 26 A
221 LA
B 20 A B 29 A

[1:304 BmMER OUT | I N GROSS| HDCP | NET e -804 BmMER OUT | I N GROSS| HDCP | NET L

& &t Ex 43 38 81 90 720 26 A RiEE K 46 47 93 70 86.0

2 EENE 39 39 78 6.0 720 27 Il EE 48 48 96 9.0 870

3 {hHE X&E 41 36 77 3.0 740 28 ®HE EX 46 49 95 6.0 89.0

4 P ER 44 40 84 100 740 29 fiKk—& 48 51 99 80 91.0

5 B ® 40 41 81 70 740 OP B#H& BX 53 46 99 00 99.0

6 Nk EZ 38 38 76 10 750 OP AI'E # 48 52 100 0.0 100.0

7 AM1E—HR 40 45 85 9.0 76.0 OP mni: X 68 61 129 00 129.0

8 R B 41 38 79 20 770

9 Rk B5h 40 41 81 40 770

10 LA 8fE 40 42 82 50 7170

11 #% B 45 39 84 6.0 780

12 15 82 44 43 87 9.0 780

13 @£k 46 43 89 100 79.0

14 bk —5 41 44 85 6.0 79.0

15 K HE 42 46 88 9.0 79.0

16 & —8B 44 42 86 6.0 80.0

17 8 A% 45 44 89 9.0 80.0

18 KH &— 44 46 90 10.0 80.0

19 il RYF 40 47 87 7.0 80.0

20 WX BE— 45 46 91 100 81.0

21 EBiIF R 41 45 86 50 81.0

22 Tk FR 49 43 92 100 820

23 M FR 45 43 88 6.0 820

24 FHE EE 52 41 93 90 840

25 %ith EHTF 45 47 92 80 840
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[1:304 BmMER OUT | I N GROSS| HDCP | NET e -804 BmMER OUT | I N GROSS| HDCP | NET L
&8 HE Rk 42 41 83 13.0 700 26 AIE EE 52 47 99 16.0 83.0

2 HFEXRR— 41 42 83 120 1710 27 HR BE 48 47 95 120 83.0

3 f#ERZ 42 44 86 140 720 28 T HKbF 49 49 98 15.0 83.0

4 {&)I| EEHE 45 42 87 140 1730 29 AR X=E 50 50 100 170 830

5 &HH FH 45 43 88 140 1740 30 FkME EE 50 50 100 16.0 840

6 BHEFEK 45 46 91 17.0 74.0 31 A% EX 49 51 100 160 84.0

7 R#= 45 47 92 160 76.0 32 R —%K 46 50 96 120 84.0

8 &W % 50 43 93 160 77.0 33 tft & 46 54 100 160 84.0

9 @F R 40 50 90 130 770 34 M X 44 54 98 140 84.0

10 BH +& 48 45 93 150 780 35 FE #= 49 48 97 120 85.0

11 EH K& 46 44 90 120 780 36 BR #= 47 51 98 13.0 85.0

12 Rl £F 47 46 93 150 780 37 BXR— 51 48 99 130 86.0

13 B8F H=2 42 49 91 130 780 38 /it & 54 44 98 11.0 87.0

14 R BREA 46 47 93 140 79.0 39 HIIl H=E 52 48 100 130 87.0

15 K2 KA 48 44 92 120 80.0 40 PMHE s 53 51 104 17.0 87.0

16 R HfE 49 45 94 140 80.0 41 RIJItE 52 50 102 150 87.0

17 RE# 46 51 97 17.0 80.0 42 =i FEBA 45 53 98 11.0 87.0

18 B #F 48 50 98 17.0 81.0 43 KIF f¥ 53 49 102 130 89.0

19 #ik EX 45 53 98 17.0 81.0 44 JtR B 53 51 104 150 89.0

20 BN EBX 54 45 99 170 820 45 —fF 49 51 100 11.0 89.0

21 ket 5 48 46 94 120 820 46 @Il FEEA 55 51 106 150 91.0

22 #HR =— 48 49 97 150 820 47 = 8 48 56 104 110 93.0

23 /M ER 46 49 95 130 820 48 —f H/iA 52 57 109 130 96.0

24 BER FEAH 46 52 98 16.0 820 49 K 53 60 113 170 96.0

25 FH_E #Eh 53 47 100 17.0 83.0
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[1:304 BmMER OUT | I N GROSS| HDCP | NET e -804 BmMER OUT | I N GROSS| HDCP | NET L

&Rk sk &R 50 44 94 200 740 26 [REA =& 56 58 114 250 89.0

2 BRB 44 50 94 200 740 27 =% e 61 57 118 270 910

3 fEHF 1EH 43 50 93 190 740 28 XB i&H 55 89 114 230 910

4 i AT 53 44 97 220 750 29 fERRK iE# 58 63 121 300 910

5 FKASLF 47 47 94 180 176.0 30 ;= £=F 60 53 113 19.0 940

6 MZ2E 51 52 103 270 76.0 31 HH B¥ 56 57 113 19.0 940

7 EER A 48 49 97 210 76.0 32 £HE= 56 58 114 20.0 940

8 H# shz 46 49 95 190 76.0 33 &AM B— 67 58 125 270 98.0

9 A EHF 55 50 105 27.0 780 34 K B&% 72 62 134 30.0 104.0

10 &H ¥E 52 56 108 300 780 35 g E— 55 70 125 19.0 106.0

11 & —sh 49 55 104 260 780

12 A &% 47 54 101 23.0 78.0

13 Z1R&E FE 45 53 98 200 780

14 A BE 56 48 104 230 81.0

15 KAR BE 52 53 105 240 81.0

16 FH)Il ;7H 52 54 106 25.0 81.0

17 BR & 56 56 112 290 83.0

18 AR & 56 57 113 300 83.0

19 LA 7 54 53 107 230 84.0

20 EE E* 57 51 108 220 86.0

21 WK thig 53 51 104 180 86.0

22 T =% 62 55 117 300 87.0

23 RAS WK 56 51 107 19.0 880

24 1LtiR =8 61 57 118 300 880

25 & H 52 54 106 18.0 88.0
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